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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forMG_O
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MG

BTiE) | GEBIATK (F) | EME (EA/&) | BEBRERE (/X)) | KR R

06:30 301 130.0 0. 055 FH| {Ei%@06:30 KRFFEF (RAEREE)
07:30 301 130.0 0.055 [Z=| 1BRi%e07:30 REEF (KAFERHE)
10:30 301 130.0 0.055 |Z=| 1Ri&@10:30 KENF2F (RAIEREE)
11:35 301 130.0 0.055 |&Z=| 1RiBe11:35 KEIPEF (KRAFEREE)
13:10 301 130.0 0.055 [/\F| 1{Big@13:10 KREEF (KAFERHE)
14:15 301 130.0 0.055 PR {Ri%@14:15 RHAIEF CRAKZESR)
15:30 301 130.0 0.055 [Z=| {Ri%@15:30 KEIZEF CGRAEEE)
=2i3t|2107.0 (%) 910.0 EUHKEC: 1971.0, PH: 6.5

EORGEBRBT R IRAR L2 (301 vs 382.0))

PRI SERRIERE102. 0 ml.
RE XK i3k B RECEUR Fh ok
RE X SE R 3 HEREC/PHIE SRS, AT
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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